
Online Chapter 3, Appendix F: Difference of Means Test for Social Security Reform 

 

For the following pair statements, select the one that most closely aligns (agrees) 

with your personal opinion. Making some changes to Social Security will ensure 

retirement for everyone (coded 0). Overhaul of our Social Security program is 

needed (coded 1). 

 Group 

Mean 

Standard 

Error 

95% Confidence Interval 

Non-Millennial 0.369 0.019 0.331 0.407 

Millennial 0.393    0.020       0.354     0.431 

 Wald Test Non-Millennial = Millennial  

  F(1, 1250) =   

  Prob > F =   

  N = 1,251  

Note: Means test run on estimate sample, given survey weights for Millennial and 

non-Millennial to correct for the oversample of Millennials.  

 



 


